POWERED BYI!‘
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
infemational Residential Code (IRC), Sections R301 & R609 and the 2018
infemational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with animpact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject fo further engineering
analysis. A ‘

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Door/Sidelite panel details {flush glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

i (WM

112.94" MAX. OVERALL

FRAME WIDTH

81.94" MAX. OVERALL
FRAME HEIGHT (INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTISWING)

© 0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FlL. 33595
CERTIFICATE OF REGISTRATION # F-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

LFS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADDED ADDITIONAL THRESHOLDS

11/18/19|ADD "FusionFrame” OPTION &
1/07/14 |ADDED ARTICULATING SILL

NOJ/ DATE

—

3
2

REVISIONS

OXO

INSWING

-50.0

oaTE: 8/07/12

SCALE:  N.T.S.

OX0

OUTSWING

-50.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4206

SHEET ] oOF 6

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4206-07.dwg, TX-4206




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD} - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4206-07.dwg, 2.3

EXTERIOR 402"
S 7 ‘gﬁ ’
\§£ S : s
&ﬁ\l\ 1 R ,‘7J *
INTERIOR LATCH STILE X
HINGE STILE (LVL)
(WOOD)
@ HORIZONTAL CROSS SECTION
2
36" MAX.
PANEL WIDTH
24" MAX . )
D.L.O. WIDTH | el 9/168ITGELASS
< 2 > EXTERIOR 11/16" THK. GLASS
1/8" TEMPERED
/ GLASS
J————— AIRSPACE
1 T 1/8" TEMPERED
o v ) GLASS
= ALUMINUM SPACER
8% & X INTERIOR
= ¥ ol QSO SEALANT
=g 809 0|
5 < a &1 )-GLAZING DETAIL
™~ SEE HARDWARE .
TABLE
D

THERMA TRU - Flush Glazed

Door/Sidelite Panel
{fiberglass)

LATCH: KWIKSET SIGNATURE SERIES {991)

ET
KWIKS DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RAIL

|wwe— 175" —]

(COMP.) |

FIBERGLASS SKIN

(075" MIN.) \

1

0.93"

;
gl

/,

/
/

7

EXTERIOR INTERIOR
Al
FOAM CORE
(POLYURETHAI\E\
1.9 PCF MIN.)
a
BOTIOM RAIL <
(COMP.)
1
m VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA

PRODUCT:

SIDELITE PANEL DETAILS
(FLUSH GLAZING)

LFS | PART OR ASSEMBLY:

LFS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADDED ADDITIONAL THRESHOLDS
1/07/14 |ADDED ARTICULATING SILL

11/18/19]ADD "FusionFrame” OPTION &

3
2
1

NO, DATE

REVISIONS

oATE: 8/07/12

SCALE:.  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4206

SHEET 2 OF B

@ 2012 R.W. BUILDING CONBULTANTS INE.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI'- DR-610 Therma-Tru Flush GLZ\Drawings\2019 REWTX-4206-07.dwg, 3.3

4

O]

&

CORNER PADS
(TYP.)

&
——1.5" —]

=

435"
LA
)

2.5
FATBOY MULLION

PINE

NOTES:

1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 total).
2. Spacing for mullion screws: " from each end plus 3 more equally spaced (5 total).

.@:cx;\*\:‘\\ h.i
Sriel 2y =g
4 e i B9, <% 0
- Y{Sij o : . \9 I Vo o
SaX BT 22 o &
b~ Ly s Xt N> a -]
i SR I 18y on &<
b £.: 2RI S|od gm 24
foipiviz 28| §ue 2,y -
b~ 1o M cle F - g
/ O, 2=\ \\\ °g g g2 35
' on i8E X BE 23 65
// b, 15 L 2 Hgo nk
4 3{’35{'"55 ool 2>0 @§
; BACK-TO-BACK JAMBS: M . §R° g2
n . 0 _ ool
"FusionFrame” FusionFrame" {1 OR 2-PIECE) : o x S e
4 'S MULLION £ Eog O%
< g = g O
NEANLY N _ !oRat gX
@, (O n) INTERIOR #I0X2-1/2'PFH |2 § &
0 O] WOOD SCREW P g &
[&]
#8 X 2-1/2" FH COURSE O [ | ENDURA WEATHERSTRIP (SEENOTE 2) 3
THREAD DRYWALL SCREW O (QEBD/PE 650) 3
/ (SEENOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP /SIDELITE PANEL
: (QEBD/PE 650}
Va
/ \‘; 0
- =Z
- 3 - @ e
- 3 o < 9 <=
s gz
q / G 93 53
%] K7} o
#10X 3" PFH g T
y SIDELITE PANEL oo #X 21/ PFH WOOD SCREW | 4
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH WOODSCREW  (seeNOTET) |3 S
EXTERIOR STRIKE PLATE o &
#8 X 3/4" PFH SMS 4" HINGE =AIERNVR o o
7“3\ HORIZONTAL CROSS SECTION /4 HORIZONTAL CROSS SECTION o] lefes

w Outswing shown - Inswing also approved

\y Outswing shown - Inswing also approved

wWOOD

COMPOSITE

N

(0000
0000

4.375"

4-3/8" FATBOY

—- 2.5"
MULLION

"FusionFrame"

w Outswing shown - Inswing also approved

PINE MULLION
INTERIOR \

4-3/8" FATBOY

UPDATE TO 2018 IBC/IRC CODE

\'}/ Outswing shown - Inswing also approved

B2
PINE MULLION \ Q1 |,
R il ] I v
#8 X 2-1/2" FH COURSE eRIPE O
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW o 5 % =
THREAD DRYWALL SCREW (QEBD/PE 650) [SEENOTE 1) L'g S %
P Qi
(EENCTET) DOOR PANEL ENDURA WEATHERSIRIP | 4 SIDELITE PANEL KRN
' (QEBD/PE 650) 4 £5lalo
| 1N . \ = 1= . rej ]
N o ' SEEE
\ Ab’\ k / s
A /] N //,'///_{/,//./,rf‘/xu: - —- © ¥
; ‘\&~ FLIITTIIIE1Y ‘g' \\‘ g : b““w “ . § §§ l!_;_:J
g i, S s/ S SRe
/ \ NERNEE
SIDELITE PANEL S8 1" PR SMS #8 X 2-1/2" PFH WOOD SCREW ote: 8/07/12
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH ScAE: N.T.S.
DWG. BY: JK
" ’ STRIKE PLATE
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR e LFS
/ 1"\ HORIZONTAL CROSS SECTION ("2 HORIZONTAL CROSS SECTION e a206

SHEET 3 ofF 6

@ 2012 R.W. BUILDING CONSULTANTS ING..



RiClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4206-07.dwg, 4.3

2% FRAMING 2X FRAMING 2X FRAMING Sy, an
(G>=0.42) (G>=0.42) (G042 u o kit oyt 33 £ o
— —"] P — P \ ;-':‘“\?:’ : %_ ; .._... E;b § § g
il TN // 1, i o ?[Sf He) m B g " g?
EXT. SHEATHING o I exr steamanG e = AN 535%§3 T Ko B8
™~ DRYWALLL | e | lorwan B, iEEF i £33 22
DRYWALL \ L i o ’5}}”{; Q3 sF Fze 22
Wi A L LY §25 .k :)>,‘?: 7]
) 1t k:i : | ) 1 " . T Zzzlli*gz ::' ‘??"}4 g '?) © gg
| #10X2-1/2" PFH TN #10X2-1/2° PFH | o Wi § O&; ES
WOOD SCREW M WOOD SCREW S 3 28% 4,
1/4" MAX. ‘ 1 5 1§ .& .o
" ANt ) ] Q. = O: _g @
SHIM SPACE SM:A ?Pfé&\ [N ™ #10X 3" PFH £ 3ok §§
¥ o ¥ = WOOD SCREW 2 § £
SHE SHE 1/4" MAX. P g‘é‘
A 3
| SHIM SPACE = 1000 ELE'} ;
DOOR PANEL \\ ? SIDELITE PANEL ~_ \ ? DOOR PANEL
g N HEAD: "FusionFrame" ({1-PIECE) %
: . o
HEAD: PINE #8 X 2-1/2" FH COURSE HEAD: PINE =
ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) &
(QEBD/PE 650) (SEENOTE 1) /] & 0
EXTERIOR W NTERIOR INTERIOR " EXTERIOR EXTERIOR ™ INTERIOR s |yE
=R BAMLAN . NOTE: ul o
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION /3\ VERTICAL CROSS SECTION 1. Spacing for sidelite screws: 3 SJ
W Outswing shown - inswing also approved W Inswing shown - Quiswing also approved w Qutswing shown - inswing also approved 4" from each end (2 total). R o B
S O W
Q (- >
(@] [0
o <C
o o.
g |25k

1/4" MAX.
SHIM SPACE 1/4'MAX.  #10X 2-1/2" PFH
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW
’ JAMB: PINE . ;
0.75" —|«-—-—1 0.75" l«—»;— 0.75 DRYWALL JAMB: "FusionFrame DRYWALL
1 S N / / (1 OR 2-PIECE) /
INTERIOR \ b
COMPOSITE e R A
N SNAP-ON #8 X 2-1/2' FH COURSE \ #8 X 2-1/2" FH COURSE
AP THREAD DRYWALL SCREW THREAD DRYWALL SCREW
i . \ (SEENOTE 1) [SEE NOTE 1)
m | AN
< 0 \ \
= 2X FRAMING 2X FRAMING
’ (G >=0.42) G>=0.42
&= LVL ( )
O
D “‘ “‘ “‘ ‘\ “‘ “ ‘\ “‘ = ~ \“ =
—4 1.25" l“.» 1.95" 14— ol 125 e
' SIDELITE PANEL SIDELITE PANEL
JAMB / HEAD JAMB / HEAD JAMB EXT. SHEATHING  EXTERIOR EXT. SHEATHING
PINE "FU(s‘i?ggrgge" "F%S;?Qggg‘e" 4"\ HORIZONTAL CROSS SECTION (5 "\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

W Outswing shown - Inswing also approved

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADDED ADDITIONAL THRESHOLDS

11/18/19|ADD "FusionFrame” OPTION &
1/07/14 |ADDED ARTICULATING SILL

NOJ DATE

3
2
1

REVISIONS

oatE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4206

SHEET 4 of 6

© zo12 R.W. BuiLDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4206-07.dwg, 5.3

7 ENDURA DOOR /X
DOOR DOOR SWEEP PANEL\

PANEL | (DBKR)

ENDURA WEATHERSTRIP

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4' ELCO OR ITW CONCRETE SCREW Spacing for sidslite screws:

é" from each end (2 toial).

/"3 VERTICAL CROSS SECTION

ol INTERIOR
INTERROF& EXTERIOR
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR iTW CONCRETE SCREW
71"\ VERTICAL CROSS SECTION /"2 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
{SEENOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION
w Inswing configuration

to

8 ATeuIaTnG Threshol
\ 5/ Inswing Arficulafing Threshold SDELTE ]

b b

PANEL \\~ m @ @

#8 X 2.5" COURSE THREAD —— ;_3_' gﬂ?
DRé&AﬁLosTgf;SW e //</</ W _—
EXTERIOR INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/5\ VERTICAL CROSS SECTION
W Qutswing configuration

! 456" !

w QOutswing Bump Threshold

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhono No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PRODUCT:

VERTICAL
CROSS SECTIONS

ENDURA

LFS | PART OR ASSEMBLY:

LFS
FS
BY

INSWING ADJUSTABLE THRESHOLD

(8,

4.56" !
INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 IAIAA4565FN

[ 4.56" .4;

INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD

1.6

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADDED ADDITIONAL THRESHOLDS

11/18/19]ADD "FusionFrame” OPTION &
1/07/14 |ADDED ARTICULATING SILL

10 INSWING ARTICULATING THRESHOLD

b 456" |
T INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN
ol 454" |
5 )} INSWING ARTICULATING THRESHOLD 2"} INSWING ARTICULATING THRESHOLD
IACL4565 ZACA565FN

&
- i\ et M
b 456" |
17 QUISWING THRESHOLD 12) QUISWING THRESHOLD
1OBL4565 ZOB4565FN

IACLAA4565 ZACAA4565FN

; 456" |
13 OUTSWING THRESHOLD

ZOB4565RDS

NO.| DATE

3
2
1

oate: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—-4206

SHEET 5 oF 6

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4206-07.dwg, 6.3

u
s Ezu” HEAD ANCHORS: o "&3
05% 2X FRAMING ¢ #10 X 2-1/2" WOOD SCREW (PINE JAMB) £3 @
Sog (BY OTHERS) 4 #10 X 3" WOOD SCREW (1-PIECE JAMB) E3Z 8 u8
399 N 2 (TYP.) —=] jm—r JAMB ANCHORS: Sy B ET
< K —=| = 6"(TYP) I3 #10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB) Lo Zon Bl
[ (TYP.) (TYP.) —’1 [" ‘ #10 X 3" WOOD SCREW (1-PIECE JAMB) g§ gE2 $*
[ Bt z
S - N | 1 S 1 T EF g%% 2
| SEEHINGE \~ % \_ T , 335 B
e DETAIL 1 DETAIL 1 DETAL 1 o 5 B8R Eg
B S = < x 2 4
g © Qo & P28, by
~ = 038 g 9.5 g
o in & O @ 5Q¢c p
ot a & oo §5
- © .
% A g l £ g 8
22N | E_i_
SEE HINGE ] NIl
DETAIL 2 SEE STRIKE _/ o o
DETAIL 2
i
g N ] * < S
fi3 DETAIL 1 DETAIL 1 g |2
N\ /\ / o |3 =
. - L = m] <<
| LN T 2 (N ; & |3 .
il (- t— |1t | % <§(
<
) N ) SILL ANCHORS: i ol &
4 (;YE’T)Y P—)-» #10 X 2-1/2" PFH WOOD SCREW 2 N
7] [ 2'(TYP) “—1/4"X2-3/4"ELCO OR g %
HINGE JAMB FLOOR SUBSTRATE MATERIAL ¢ [TW CONCRETE SCREW STRIKE JAMB
———— CONCRETE {MIN. 3000 PSi) 0l 10lel-
WOOD (G >= 0.42) FRAME ANCHORING ] Sl
OXO N
* Q&
NOTE: These anchors required for D.P. > 45 PSF. [© g
— DEADBOLT SECURITY g & &l
. STRIKE PLATE EIN|wiE
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. tolool 2 %
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. ElalS 'fr] %)
#8 X 2-1/2" PFH WS ——] ~—_ NNEIEE
INTEGRAL MULLION NOTES: LATCH SIRIKE & o E Q %
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame” BACK-TO-BACK - PLATE B W@
JAMB {1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. “:-' g olo
Lfie)
CONCRETE ANCHOR NOTES: : : : - DETAIL 1 : . STRIKE PLATE DETAIL 2/518/8
1. Concrete anchor locations at the corners may be adjusted to maintain the min. integral mullion attachment : < =
edge distance to mortar joints. NESN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to © @bg
maintain the min. edge distance to mortar joints, additional concrete anchors N ég a
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ] — #8 X 2-1/2" PEH WS \ = -
3. Concrete anchor table: / ] P #8 X 2-1/2" PFH WS ol e|=I2
4:. o i DATE: 8/07/12
#8 X ]u PFH WS e ] - . " 4'«. = [ g -~ SCALE: N.TS
e e — :“; ’: 3}/1 m;“ WS #BX1"PFHWS <0 ' [1] =t~ 45X 3/4" PFH WS owe. 8v UK
",'W N i " \ " "
® " 1- " 1-1 2“ 4" A ~ 4" X 4" HINGE CHK. BY: LFS
1apcoN® | 1/ 3/ / \ N DRAWING O
ELCO TX—4206
® ] 4" ]-3 4“ 1" 4"
uurRaconN®| 1/ / HINGE DETAIL 1 HINGE DETAIL 2 .

@ 2012 R.W. BUILDING CONSLILTANTS IND.




